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Lesson: Practice 1

Practice: Exercise an adaptive component

o Review the adaptive elements.

e See results of changing the value of an adaptive relationship.

1. Open the Clipper.iam assembly.

w

2. Make the Clipper Blade:1 component Adaptive.

Assembly | Modeling

.5 Clippers.iam

+ Relationships

+ £: Representations
+ Origin

+ Eﬁ Constraint Plane: 1
+ @ Constraint Plane:2
+ %> i Clipper Blade: 1
+. [ Clipper Blade:2

see what happens when the offset value of a
work plane is animated.

+. @ Pin:1
+ @ Lever:1
3. Expand the relationships folder, locate the ‘Drive | orve (rive This Constraint) X
This Constraint’ Mate and right-click on it.
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5. The component is changed by its relationship to st

a work plane projected into the sketch. f
—_—
Note: By modifying the position of the work

plane the sketch is modified changing the model

geometry.
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